| Efficiency vs Dxy |

0.2
< : : : : :
o) : : : : :
B ] S
< A
@.16%----%------% ------- R
K R S A A
D LA
© B v
0.12p -ttt
O
0,08
008y

00|

T S e

Ratio

......................................

aer

..................................

1
1.1
1

3 W

0.8

B 50-15-10 -5

0 510 15 20 25
TP dxy (cm)

| Efficiency vs Dz |

~N 0.1
©
9.09
Py
Hos
(&)
.07
()
0.06
0.05
0.04
0.03

—=— DQM_V00UI_RO0000000T_Global
—e— DQM_V0001_R000000001__Global
—+— DQM_V0001_R000000001__Global

Cmssw_RECO
mKkFitOriginal__ RECO
mkFitNew__ RECO

...........

30
TP dz (cm)

—— DQM_V0001_R000000001__Global__mkFitNew05__RECO




	Contents
	Page 1


